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Question Number : 1 Question Id : 6154752974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

61547511601, 1
61547511802 2
15475116802 2
61547511604, 4

Question Number : 1 Question Id : 6154752974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511601, 1
61547511602 2
61547511603 2
61547511604, 4

Question Number : 2 Question Id : 6154752975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E1547511605. 1
61547511606, 2
61547511607, 3
E1547511608. 4

Question Number : 2 Question Id : 6154752975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511605, 1
61547511606, 2
61547511607, 2
1547511608 4

Question Number : 3 Question Id : 6154752976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1)  The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ guestions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwvailability of teacher and his/her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

61547511609, 1
61547511610, 2
61547511611, =
61547511612 4



Question Number : 3 Question Id : 6154752976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) (iv) 3 (v)
(4) (i1) 3 (iv)
Options:
61547511609, 1
61547511610, 2

1547511611, 2
51547511612, 4

Question Number : 4 Question Id : 6154752977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list, which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

() MOOCS

(1v) Quizzes

(v} Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (1) and (111)
(3) {(11) and (1v)

(4) {(111) and (v)

Options:

615475116121
61547511614, 2
61547511615 =
61547511616, 4

Question Number : 4 Question Id : 6154752977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547511613, 1
61547511614, 2
61547511615 =
61547511616, 4

Question Number : 5 Question Id : 6154752978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr

descriptive features. Match the two sets

Set I
(Evaluation system)
(a) Formative evaluation (1)
(b)  Summative evaluation (11)
(c) Norm-referenced testing (111)
(d) Crterion-referenced testing (1v)
(v)

Set 11
(Descriptive features)

Comparing the students’ performance
with that of others

Indicating standards of mastery
Diagnosing students’ problems
Identifving scope for improvement

Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (€)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

515475116171
615475116158, 2
61547511619, 3
61547511620, 4

Question Number : 5 Question Id : 6154752978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (e)-(v). (d)-(1v)

Options:

£1E47E11617. 1

E1E47E11618. 2

E15475116148. 3
E1547511620. 4

Question Number : 6 Question Id : 6154752979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. cbzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
615475116211
61547511622 2
1547511623 2
1547511624 4

Question Number : 6 Question Id : 6154752979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547511621, 1
61547511622, 2

61547511622, 3
E1547511624. 4

Question Number : 7 Question Id : 6154752980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of their socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

615475116251
E1547511626. 2
E1547511627. 3
E1547511625. 4

Question Number : 7 Question Id : 6154752980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547511625. 1
B1547511626. 2
1547511627, 3
615475116258, 4

Question Number : 8 Question Id : 6154752981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E1547511629. 1
E15475116230. 2
E1547511621. 3
BE1547511632. 4

Question Number : 8 Question Id : 6154752981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547511625. 1
61547511630, 2
61547511621, 2
E154751163%2. 4

Question Number : 9 Question Id : 6154752982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

BE1547511633. 1
E1547511634. 2
51547511635 3
E1547511636. 4

Question Number : 9 Question Id : 6154752982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547511633, 1
61547511634, 2

61547511635 3
61547511636 4

Question Number : 10 Question Id : 6154752983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

() Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (11) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

51547511637, 1
61547511638, 2
61547511639, 3
E1547511640. 4

Question Number : 10 Question Id : 6154752983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (i) 3\ i) (2) (i) 3/ (iid)
(3) (i) 3R (v) (4) (1) 37 (1v)
Options:

61547511637, 1
E1547511638. 2
E1547511639. 3
E1547511640. 4

Question Number : 11 Question Id : 6154752984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E1547511641. 1
E1547511642 2
61547511643, 3
61547511644, 4

Question Number : 11 Question Id : 6154752984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511641, 1
61547511642 2
61547511642, 3
E1547511644. 4

Question Number : 12 Question Id : 6154752985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E1547511645. 1
E154751164dE. 2
BE1547511647. 3
515475116458, 4

Question Number : 12 Question Id : 6154752985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547511645. 1



E154751164dE. 2
61547511647, 3
515475116458, 4

Question Number : 13 Question Id : 6154752986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

61547511649 1
61547511650, 2
E1547511651. 3
E1547511652. 4

Question Number : 13 Question Id : 6154752986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U T 999 Bl O Fedl 2§ - 99 319 98 @@ oid & 91 319 39 9iE=E S w4 5 099 20| 0 98
T Theht Tehd a1 27

(1) T - T4 (2) 398 TATE
(3) = 52 (4) TFEAEF TaoH
Options:

£1547511649. 1
61547511650, 2
E1547511651. 3
E1547511652. 4

Question Number : 14 Question Id : 6154752987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) {c). (d) and (e) (4) (d). (e) and ()



Options:

61547511653, 1
1547511854 2
1547511855 =2
61547511656, 4

Question Number : 14 Question Id : 6154752987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

B 3R T99e= 2H1 % A0 ST 9976l of@Hd * Agd 2

(a) ATITETRS W o

(b) TSI = AT I
c) TEAT

(d)  Hfeada

(e) ‘E!ﬁ'ﬂ?fﬂ

(f) Al AT A I

efaigd 4 4 @3 999 969

(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
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Options:

E1547511653. 1
E1547511654. 2
51547511655, 3
61547511656, 4

Question Number : 15 Question Id : 6154752988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (A)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



E1547511657. 1
61547511658, 2
61547511655, 3
61547511660, 4

Question Number : 15 Question Id : 6154752988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547511657, 1
61547511658, 2
61547511659 2
61547511660 4

Question Number : 16 Question Id : 6154752989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

1547511661, 1
61547511662, 2
E15475116E3. 3
E1547511664. 4

Question Number : 16 Question Id : 6154752989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

51547511661, 1
E1547511662. 2
61547511662, 3
E1547511664. 4

Question Number : 17 Question Id : 6154752990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X, ...is

(1) 78 (2) 80
(3) 76 (4) T4
Options:

E15475116E5. 1
61547511666, 2
G1547511667. 3
E15475116658. 4

Question Number : 17 Question Id : 6154752990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FeferfEd a4 X 2 -

3,8, 18, 38, X, ...

(1) 78 (2) 80

(3) 76 (4) 74
Options:

61547511665, 1
E154751166E6. 2
E15475116E7Y. 3
E1547511665. 4

Question Number : 18 Question Id : 6154752991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ' SOLUTION" 18 RSKTSHASM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5HLH
Options:

61547511669, 1
E1547511670. 2
E1547511671. 3
B1547511672. 4

Question Number : 18 Question Id : 6154752991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iz ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ & F=ffiga § & 9 =9 4 Tomar smom ?

(1) BQ5/HL (2) B5HQLH
(3) BQLLD (4) BS5LH
Options:

61547511669, 1
61547511670, 2
E1547511671. 3
B1547511672. 4

Question Number : 19 Question Id : 6154752992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

BE1547511673. 1
B1547511674. 2
61547511675 3
E1547511676. 4

Question Number : 19 Question Id : 6154752992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



BE1547511673. 1
61547511674, 2
61547511675 3
E1547511676. 4

Question Number : 20 Question Id : 6154752993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

615475116771
61547511675, 2
615475116749, 3
E1547511680. 4

Question Number : 20 Question Id : 6154752993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Q% (2) 10%
(3) 11% (4) 12%

Options:

61547511677,
1547511678,
1547511679,
61547511680,

o IR

Question Number : 21 Question Id : 6154752994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

51547511681, 1
E154751168%2. 2
61547511682, 3
E1547511684. 4

Question Number : 21 Question Id : 6154752994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidarel = feafd =0 avaa § gieed O Al e 31 SEREETd 5 9 ° g9E T
1 °1 33 F41 FEl A1 27

(1)  3TIH=H Ug S (2) 7 Ig g
(3)  WTYH-eH Ug EHm (4) T
Options:

E1547511681. 1
E1547511682. 2
BE1547511683. 3
61547511684, 4

Question Number : 22 Question Id : 6154752995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E1547511685. 1
E1547511686. 2
B15475116887. 3
E15475116858. 4

Question Number : 22 Question Id : 6154752995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E1547511685. 1
61547511686, 2
E1547511687. 3
E1547511688. 4

Question Number : 23 Question Id : 6154752996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E1547511689. 1
51547511630, 2
51547511631, 3
61547511632 4

Question Number : 23 Question Id : 6154752996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
IS I FH9TE FSE F SFTER 94 FTHE 6 U § FefatEs 1 & e 9g O meafad 27

(1)  dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154751165%9. 1
E1547511630. 2
E1547511631. 3
E15475116392. 4

Question Number : 24 Question Id : 6154752997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

615475116321
61547511634, 2
E1547511635. 3
E1547511636. 4

Question Number : 24 Question Id : 6154752997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTiEd ¥ ¥ :H-T1 [@%ed To9% A 9arsd ) [Gemeal O Jdidd 2 9 29 od J [4iia 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

51547511693, 1
1547511694 2
1547511895 =2
61547511696, 4

Question Number : 25 Question Id : 6154752998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

61547511637, 1
615475116358, 2
E154751163949. 3
E1547511700. 4

Question Number : 25 Question Id : 6154752998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gN1 99 #| O fFH

(1) AT T [y iz = ok
(3)  ETa® a= (4)  AITEAHF 95
Options:

515475116857, 1
615475116358, 2
615475116399, 3
61547511700, 4

Sub-Section Number: 2
Sub-Section 1d: 615475134
Question Shuffling Allowed : Yes

Question Id : 6154752999 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 6154753000 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E1547511701.1
61547511702 2
61547511703, 3
61547511704, 4

Question Number : 27 Question Id : 6154753001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

£1547511705. 1
61547511706, 2
61547511707, 3
61547511708, 4

Question Number : 28 Question Id : 6154753002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547511703. 1
61547511710, 2
61547511711, 3
61547511712 4

Question Number : 29 Question Id : 6154753003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

615475117121
E1547511714. 2
E1547511715 2
51547511716, 4

Question Number : 30 Question Id : 6154753004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

E1547511717.1
61547511718, 2
61547511715 3
61547511720, 4

Question Id : 6154752999 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension



2w (999: 26 ¥ 30) : Fofaigd difesn § Aty gmnigy =vas 99 9o SARA1 51 9ideddr 91 T 2
Atz o T S 5 S Sae 99a 9 SEa B FE 9= 12,00,000 2, G A1 WOSATEIE
Fafaiad 9941 =1 391 29y :

T Ao Jeqea-£f ST TE

TTel SATRAT =l W]
C++ 15%
C 25%
FIETA 12%
TEH 13%
iG] 15%
A AR UH b 10%
qr2Et 10%

Sub questions

Question Number : 26 Question Id : 6154753000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (Z2) b5:3
(3) gl (4 b5:2
Options:

515475117011
61547511702 2
61547511703, 3
E1547511704. 4

Question Number : 27 Question Id : 6154753001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

£1547511705. 1
61547511706, 2
61547511707, 3
61547511708, 4

Question Number : 28 Question Id : 6154753002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. 9T 31 FE o de A dTe] SRl il Fd T 1

(1) 4.80.000 (2) 5.04.000
(3) 2.16.000 (4) 6.24.000
Options:

E1547511703. 1
61547511710, 2
61547511711, 3
61547511712 4

Question Number : 29 Question Id : 6154753003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2, U 312 U 17 37 = ST Svd i FEEET W@ 9 d S S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

615475117121
E1547511714. 2
E1547511715 2
51547511716, 4

Question Number : 30 Question Id : 6154753004 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E1547511717.1
61547511718, 2
61547511715 3
61547511720, 4

Sub-Section Number: 3
Sub-Section 1d: 615475135
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154753005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {(a). (c). (b)

Options:

61547511721, 1
61547511722 2
615475117232 2
61547511724, 4

Question Number : 31 Question Id : 6154753005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fFeferfag ey feasd w T=9r fifw
(a) B feF
by HSum

(c) 29T 2 1A

3= OUET gudl & SARE FA °§ srafyd e ok ud et FHu

(1) (). (0. (@
(2 (). (). (@
3 (o) (b). (a)
4)  (a).(c), (b)

Options:

615475117211
61547511722 2
61547511722
61547511724 4

Question Number : 32 Question Id : 6154753006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:

615475117251
61547511726 2
61547511727, 5
61547511728 4

Question Number : 32 Question Id : 6154753006 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

fafefigd @ T +9 o1 =70 SR 999 9= & 99 & e ghgs v o1 O geEa 1 aer e

o 9 27
(1) é—‘l Saled

(2) s

s

(3) AT THIG

(4) T

Options:

61547511725, 1
61547511726 2
61547511727, 2
61547511728 4

Question Number : 33 Question Id : 6154753007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
615475117291



E1547511730. 2
61547511721, 2
61547511732 4

Question Number : 33 Question Id : 6154753007 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Teigd § d i |1 3-Hel o Hed § 390 ¢ 7

(3)

(4)

Options:

7 FJE H2as WIS T UE 0 2
TE FAT=d HAWl I 9 WO 2 Ol 8
-1t gor 7T 9T e 2

211 7q T S T 9 BT 2

6154751172591
61547511730, 2
61547511731, =
E1547511732. 4

Question Number : 34 Question Id : 6154753008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

(a)

(b)

(c)

(d)

List I
(E-1nitiatives)
Vidwan
Digilocker
Sakshat

Shodh Ganga

(1)

(11)

(111)

(1v)

Last IT
(Descriptions)

Repository for full-text thesis. e-books
and journals

Education portal to facilitate learning

Databasze of

rezearchers

leading  scientists/

Platform for issuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (c)-(1v). (d)-(11)
(a)-(111). (b)-(1v). (c)-(11). (d)-(2)
(a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(a)-(11). (b)-(1). (e)-(11). (d)-(1v)

E1547511733. 1



E1547511734. 2
61547511735 3
51547511736, 4

Question Number : 34 Question Id : 6154753008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

-1 %1 GEi-11 = 319 AT Hig
T=i-1
(3-afvrzFm)
(a) r'a- gl
by TEEdE=
(c)  HIEE
(d) IIg T
= 20 0 foeT 3 4 O8 S 90

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

15475117321
61547511724 2
61547511735,
61547511736, 4

(1)

{11)

I

(feramo)
q0 o WY e, -g99 AT SHed W
BEL

(ii1) S SR /T T SEeE

{(1v)

Question Number : 35 Question Id : 6154753009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
615475117371



E1547511738. 2
61547511735 3
51547511740, 4

Question Number : 35 Question Id : 6154753009 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT § Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =34 ggE]
(3) =2 g g uHdi

(4) 22 79 T OO

Options:

615475117371
615475117328 2
1547511729 2
61547511740 4

Question Number : 36 Question Id : 6154753010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

61547511741, 1
61547511742 2
61547511743 =
61547511744 4

Question Number : 36 Question Id : 6154753010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) T TETYT HATEE; A2 EE 3 T S A 997 9999 3 Eeadl 9
(4) I TETEE B

Options:
£1547511741. 1

E1547511742. 2
E1547511743. 3
51547511744, 4

Question Number : 37 Question Id : 6154753011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local 1n nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4) (1). (11). (1) and (1v)
Options:

E1547511745. 1
E1547511746. 2
61547511747, 3
615475117458, 4

Question Number : 37 Question Id : 6154753011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frefafga § 4 31 w=iawiE g2 it ve9m Fifae 91 =T 55a % 2
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(1) AT T T &0
(11) e TgHv

i) gEw

(iv)  Foar Jiadd
(v) AR

(vi) B 398 Ja9H

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 37T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

515475117451
61547511746, 2
61547511747, 3
615475117458, 4

Question Number : 38 Question Id : 6154753012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeire Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E15475117459. 1
61547511750, 2
61547511751, 3
61547511752, 4

Question Number : 38 Question Id : 6154753012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFm oo Ty Auieq /gt 90§ auofig fasm OiFE wrEn (9 3 TEE wH
T2 ae SaeTHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh =
(3)  FEge gmg (4) ITEHITETE F5E
Options:

615475117491
E1547511750. 2
51547511751, 3



E1547511752. 4

Question Number : 39 Question Id : 6154753013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countres

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E1547511753. 1
61547511754, 2
61547511755 3
61547511756, 4

Question Number : 39 Question Id : 6154753013 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g § § FH-51 9% T909 Foard Tadq e 99 (3 U9 O O @ ) F 359 1 i
27
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(4) TSI IE0 gRT SEa FEAENAT AR i s aan e

Options:

615475117531
61547511754 2
61547511755 2
61547511756, 4

Question Number : 40 Question Id : 6154753014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

515475117571
61547511758, 2
61547511759, 3
E1547511760. 4



Question Number : 40 Question Id : 6154753014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AN, AT F HA0 7d TavasaTdt AEshar 3 FaETE F WicHned #49 gd J U 2 0 A § 3
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(3) A WgHW #I THA™ (4) ¥ =

Options:

E1547511757. 1
61547511758, 2
61547511759, 3
61547511760, 4

Question Number : 41 Question Id : 6154753015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E1547511761. 1
B1547511762. 2
61547511763, 3
61547511764, 4

Question Number : 41 Question Id : 6154753015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fFa w=in g fvafaes =1 3 o oF e 8 3= 3 Tl ol 5 g #3
% T9 H A1 A1 8 7

(1) Tee favaia==g (2) Tafren fEvata=
(3)  Ariean favateEa (4) Tz favafarem
Options:

515475117611
B1547511762. 2
61547511763, 3
61547511764, 4

Question Number : 42 Question Id : 6154753016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2} (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

515475117651
61547511766, 2
E1547511767. 3
615475117658, 4

Question Number : 42 Question Id : 6154753016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefcIfigd § 4 #H U 98 T-TR9 A FEERl F g2 a7
(i) @1 gmfer
(11) =4 919
(iii) 797 JEEH
(1v) AUed-fagH
(v)  JoHTHF 9

FATeEd el § 8 A7 39 3

(1) (1), (i) 37 (v (2) (1), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 3 ()
Options:

615475117651
61547511766, 2
E1547511767Y. 3
E15475117658. 4

Question Number : 43 Question Id : 6154753017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
1547511769 1
1547511770 2
1547511771 2
1547511772 4

Question Number : 43 Question Id : 6154753017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE T f91em 9fmg (v ©i & 2)

(2) R AlgEeE g (& o aE)

(3)  9RAME A TEg (AR H )

(4) o 1:1;~:|‘|$,:| R goar9q 9fg (U9 U U i)
Options:
61547511769, 1
£1547511770. 2

61547511771, 3
61547511772 4

Question Number : 44 Question Id : 6154753018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of yvoga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

615475117731

61547511774 2

61547511775 2

1547511776 4

Question Number : 44 Question Id : 6154753018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT T8 ST B A F WA F H efaiad § 7 F9 w sen 27
(1) g e fifd-1963
(2)  TE e Aifd-1986
(3) W4 4 ATHF fwa F 9iasa 3fe, e dR A aise-2012
(4) WU fore fifa-2019 =1 ey
Options:
61547511773, 1
1547511774, 2

E1547511775. 3
B1547511776. 4

Question Number : 45 Question Id : 6154753019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (i1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E1547511777.1
E1547511778. 2
615475117758 3
61547511780, 4

Question Number : 45 Question Id : 6154753019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3= T9e & 3 datya Aifg s mam = G o + vee 991 & wEE #+7

(i) I Frerar =i =
(i)  TafEmEE 93 ° gan
(i) FHEATSAT 377 e higd g SHEE # TEid T

(iv) 9 Tl 1 "5
(v)  TEE T qidsE

Fefeafiad fasedi § O 3191 390 9

(1) (1), (i1) 37T (1ii) (2) (i), (ii1) 3R (iv)
(3) (ii1). (iv) 3T (v) (4) (1), (1) 371 (i)
Options:

615475117771
61547511778, 2
61547511773, 3
E1547511780. 4

Sub-Section Number: 4
Sub-Section Id: 615475136
Question Shuffling Allowed : Yes

Question Id : 6154753020 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“demoecracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating demoecratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 6154753021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

1547511781, 1
61547511782 2
61547511783, 3
61547511754, 4

Question Number : 47 Question Id : 6154753022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

515475117851
61547511786, 2
61547511787, 3
E15475117858. 4

Question Number : 48 Question Id : 6154753023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

6154751175891
61547511730, 2
E1547511731. 3
B1547511732. 4

Question Number : 49 Question Id : 6154753024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E15475117393. 1
E1547511734. 2
51547511735 3
51547511736, 4



Question Number : 50 Question Id : 6154753025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralization of power 1n a few individuals
Options:

615475117971

61547511795 2

615475117939 2

1547511800, 4

Question Id : 6154753020 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T : 46 H 50
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Sub questions

Question Number : 46 Question Id : 6154753021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AraaEd T (2) T F A9E
(3)  ifama fams (4) FfaHTEHARAT
Options:

51547511781, 1
61547511782 2
61547511782, 3
E1547511784. 4



Question Number : 47 Question Id : 6154753022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHTEa F R0 R 0 O =60 1 329 23717

(1)  TH &+ AHaa (2) 32N AHaa
(3) AV TaE ATFAE (4) Tgifa® AFad
Options:

615475117851
E1547511786. 2
E1547511787. 3
51547511788, 4

Question Number : 48 Question Id : 6154753023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) TEEHE T ==
(3) TSI wE (4) AH-Ta=ITH =deEn
Options:

E1547511789. 1
51547511730, 2
61547511731, 3
61547511732 4

Question Number : 49 Question Id : 6154753024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
%  ITER Add F a9 F1 fF =9 1 JEr 9 22

(1) Fifq e T (2) wldHTaE $i s=ar
(3)  lafeens qiE (4) F@ AM % [GER] I G990 Y5 FAT
Options:

615475117321
E1547511734. 2
E1547511735 3
61547511736, 4

Question Number : 50 Question Id : 6154753025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



U9 @ad & a9 ° o@s &1 31 fJ=n 27
(1) Tafa 21 3=
(2)  TET qrfieE
(3)  HAHHEI GATEAH
(4)  Fo ACEA F @4 § T F FLE
Options:
61547511797, 1
61547511798, 2

61547511739 3
61547511800, 4

PART Il Kashrniri

Section Id : 61547542

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475137
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154753026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-~ e
ic I” : SF A E e +i-" &F
Semindd § £ RS E\ N SK
. ‘I,.-'
5/’/4:" () e (1)
e @ slrde sl (3
Options:

E1547511801. 1
E1547511802. 2
51547511803, 3
61547511804, 4

Question Number : 51 Question Id : 6154753026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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- e &/ TS Y5, as
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Options:

61547511801, 1
61547511802, 2
61547511802 2
1547511204 4

Question Number : 52 Question Id : 6154753027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511805, 1
61547511806, 2
615475113807, 5
61547511808, 4

Question Number : 52 Question Id : 6154753027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547511205, 1
615475113806, 2
61547511807, 2
61547511808, 4



Question Number : 53 Question Id : 6154753028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

O 24 (2) ELJ L& (1)
- + J
14 @ o <

Options:

51547511809, 1
61547511810 2
61547511811, =
61547511812 4

Question Number : 53 Question Id : 6154753028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511809, 1
61547511810 2
615475113811, 5
61547511812 4

Question Number : 54 Question Id : 6154753029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=
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Options:

615475118131
61547511814 2
615475113815, 5
61547511816 4



Question Number : 54 Question Id : 6154753029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475118131
1547511814 2
1547511815 2
61547511816, 4

Question Number : 55 Question Id : 6154753030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511817, 1
1547511818 2
1547511819 2
615475118200 4

Question Number : 55 Question Id : 6154753030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511817, 1
1547511818 2
1547511819 2
615475118200 4



Question Number : 56 Question Id : 6154753031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Analvytic et Synthetic yé 'LJ,-v (4)

Options:

615475115211
615475113822 2
61547511822
61547511824 4

Question Number : 56 Question Id : 6154753031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Analytic ,_..f,..f Synthetic yi ILJ,-r (4)

Options:

61547511821, 1
61547511822 2
615475118232 2
61547511824 4



Question Number : 57 Question Id : 6154753032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511825, 1
61547511826 2
615475113827, 5
61547511828, 4
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Question Number : 57 Question Id : 6154753032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475118251
1547511826 2
61547511827, 5
61547511828 4
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Question Number : 58 Question Id : 6154753033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547511829, 1



E1547511830. 2
61547511821, 2
51547511832, 4

Question Number : 58 Question Id : 6154753033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

61547511829, 1
61547511830 2
1547511821, 2
1547511822 4

Question Number : 59 Question Id : 6154753034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475118351
61547511524 2
61547511535 2
15475115326 4

Question Number : 59 Question Id : 6154753034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475115331
61547511824, 2
61547511835
61547511836 4

Question Number : 60 Question Id : 6154753035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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#1925 (2) #1924 (1)
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Options:

61547511837, 1
61547511838 2
1547511829 2
1547511840 4

Question Number : 60 Question Id : 6154753035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547511537. 1

E15475118358. 2
E1547511829. 2
51547511840, 4



Question Number : 61 Question Id : 6154753036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547511341, 1
1547511842 2
61547511842,
61547511844 4

Question Number : 61 Question Id : 6154753036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475115411
61547511842, 2
61547511842
61547511544, 4

Question Number : 62 Question Id : 6154753037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547511845, 1
61547511846, 2
61547511847, =



E15475118458. 4

Question Number : 62 Question Id : 6154753037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511345, 1
61547511346, 2
61547511847, 5
61547511848, 4

Question Number : 63 Question Id : 6154753038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£1547511549. 1
61547511850 2

51547511851, =
61547511852, 4

Question Number : 63 Question Id : 6154753038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547511845. 1
61547511850, 2
51547511851, 2
61547511852 4

Question Number : 64 Question Id : 6154753039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547511853 1
E1547511854 2
61547511855,
61547511856 4

Question Number : 64 Question Id : 6154753039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511853, 1
61547511854 2
1547511855 2
1547511856 4

Question Number : 65 Question Id : 6154753040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547511857, 1
1547511858 2
61547511859,
61547511860 4

Question Number : 65 Question Id : 6154753040 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547511857, 1
61547511858, 2

51547511855, 3



E1547511860. 4

Question Number : 66 Question Id : 6154753041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i

' l s - ; ".} c& | - ] W
.9 & (VN AT TV | 9513 I

| & .:vf *

Vs @ g’ o
}._5

.-.-*—I * “"" -

s @ UL @

Options:

61547511861, 1
61547511862, 2
61547511863 2
61547511864 4

Question Number : 66 Question Id : 6154753041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547511861, 1
61547511862 2
615475118632 2
1547511864 4

Question Number : 67 Question Id : 6154753042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547511865, 1
61547511866 2



E1547511867. 3
515475118658, 4

Question Number : 67 Question Id : 6154753042 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

1547511865, 1
615475113566, 2
61547511867, 2
61547511868, 4

Question Number : 68 Question Id : 6154753043 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475118645, 1
61547511870, 2
61547511871, 3
E1547511872. 4

Question Number : 68 Question Id : 6154753043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E154751186%9. 1



E1547511870. 2
61547511871, =
B154751187%. 4

Question Number : 69 Question Id : 6154753044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475115731
61547511874, 2
61547511875,
61547511876, 4

Question Number : 69 Question Id : 6154753044 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Options:

15475118731
1547511874 2
61547511875,
61547511876, 4

Question Number : 70 Question Id : 6154753045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



B1547511877. 1
61547511878, 2
61547511875, 3
61547511880 4

Question Number : 70 Question Id : 6154753045 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£1547511577. 1

E15475118758. 2
E1547511873. 2
51547511880, 4

Question Number : 71 Question Id : 6154753046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547511881, 1
61547511882 2
1547511882 2
615475118584, 4

Question Number : 71 Question Id : 6154753046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511881, 1
61547511882 2
1547511882 2
615475118584, 4

Question Number : 72 Question Id : 6154753047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511885, 1
61547511886, 2
61547511887, 2
1547511888 4

Question Number : 72 Question Id : 6154753047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475115551
61547511886, 2
61547511887, 5
61547511888, 4

Question Number : 73 Question Id : 6154753048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547511889, 1
61547511890 2
61547511891, 2
61547511892 4

Question Number : 73 Question Id : 6154753048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o
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Options:

61547511889, 1
61547511890 2
61547511891, =
61547511892 4

Question Number : 74 Question Id : 6154753049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

_.j
AL ) f’)’{ (1)
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Options:

51547511893, 1
1547511894 2
1547511895 =2
61547511596, 4



Question Number : 74 Question Id : 6154753049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511893, 1
61547511894, 2
61547511895 2
1547511896 4

Question Number : 75 Question Id : 6154753050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tes H-r*'n__i o Qi 4 ..:bg. .j:n
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Options:

1547511897, 1
1547511898 2
61547511899,
61547511900 4

Question Number : 75 Question Id : 6154753050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E15475118597. 1
E154751183958. 2
61547511835, 3



E1547511900. 4

Question Number : 76 Question Id : 6154753051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475114501, 1
61547511902, 2
61547511902
61547511304, 4

Question Number : 76 Question Id : 6154753051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511901, 1
61547511902 2
61547511303 =
61547511304 4

Question Number : 77 Question Id : 6154753052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
: (51
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Options:
£15475114505. 1
615475114906, 2



E1547511907. 3
51547511908, 4

Question Number : 77 Question Id : 6154753052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547511905, 1
61547511906 2
1547511907, 2
61547511908, 4

Question Number : 78 Question Id : 6154753053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511909, 1
61547511910 2
1547511911, 2
61547511912 4

Question Number : 78 Question Id : 6154753053 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y
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Options:
51547511909, 1



£1547511910. 2
51547511911, 3
51547511912 4

Question Number : 79 Question Id : 6154753054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475119131
615475119314 2
61547511915 =2
1547511916 4

Question Number : 79 Question Id : 6154753054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475119131
61547511914 2
61547511915, 5
61547511916 4

Question Number : 80 Question Id : 6154753055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475119171
61547511918, 2
615475113193 2
615475119204

Question Number : 80 Question Id : 6154753055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511917, 1
61547511918, 2
61547511919 =
61547511920 4

Question Number : 81 Question Id : 6154753056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511921, 1
61547511922 2
1547511922 2
61547511924 4

Question Number : 81 Question Id : 6154753056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511921, 1
E1547511922. 2
61547511922
61547511924 4

Question Number : 82 Question Id : 6154753057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475119251
61547511926 2
E1547511927. 2
61547511928 4

Question Number : 82 Question Id : 6154753057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511925, 1
61547511926 2
615475119327, 2
61547511928 4

Question Number : 83 Question Id : 6154753058 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511929, 1
61547511930 2
61547511931, =
1547511922 4

Question Number : 83 Question Id : 6154753058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511929, 1
61547511930 2
61547511921 2
1547511922 4

Question Number : 84 Question Id : 6154753059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475119331
61547511924, 2
61547511935
61547511936 4

Question Number : 84 Question Id : 6154753059 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511933, 1
1547511924 2
1547511935 =2
61547511926, 4

Question Number : 85 Question Id : 6154753060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511937, 1
615475119338 2
1547511929 2
61547511940, 4

Question Number : 85 Question Id : 6154753060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511937, 1
615475119338 2
61547511929 2
£1547511940. 4

Question Number : 86 Question Id : 6154753061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154751149411
61547511942 2
61547511942
61547511944 4

Question Number : 86 Question Id : 6154753061 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547511941, 1
615475119342 2
61547511343 =2
61547511944 4

Question Number : 87 Question Id : 6154753062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511945, 1
1547511946 2
£1547511947. 2
61547511948 4

Question Number : 87 Question Id : 6154753062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511945, 1
1547511946 2
£1547511947. 2
61547511948 4

Question Number : 88 Question Id : 6154753063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475114949 1

E1547511950. 2
E1547511951. 3



E1547511952. 4

Question Number : 88 Question Id : 6154753063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511949, 1
61547511950 2
61547511951, =
61547511352 4

Question Number : 89 Question Id : 6154753064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475119531
61547511954 2
61547511955, 5
61547511956 4

Question Number : 89 Question Id : 6154753064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547511953. 1
51547511954, 2
51547511955, 3
E1547511956. 4

Question Number : 90 Question Id : 6154753065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547511957, 1
1547511958 2
£1547511959 =2
61547511960, 4

Question Number : 90 Question Id : 6154753065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511957, 1
61547511958, 2
61547511959,
61547511960 4

Question Number : 91 Question Id : 6154753066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



gied
f
‘{Lr*‘ JAYY (9 O ela (1)
s ¢
@ ¥ (3)

Options:

61547511961, 1
61547511962 2
61547511962 2
61547511964, 4

Question Number : 91 Question Id : 6154753066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511961, 1
61547511962 2
1547511962 2
1547511964 4

Question Number : 92 Question Id : 6154753067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511965, 1
61547511966 2
1547511967, 2



E1547511965. 4

Question Number : 92 Question Id : 6154753067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475114965 1
61547511966, 2
61547511967, 5
61547511968, 4

Question Number : 93 Question Id : 6154753068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511969, 1
61547511970 2
61547511971, 2
E1547511972. 4

Question Number : 93 Question Id : 6154753068 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511969, 1
61547511970, 2
61547511971, =
61547511972 4

Question Number : 94 Question Id : 6154753069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

b

M - -'r :':} o . = _:.-'.,,,
?ujb}ﬂfgﬁ[; ’L:}J :‘,.iJV"{)f;D Ll"',aj;
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#1938 (4) #1937 (3)
Options:
E1547511972. 1
1547511974 2
1547511975 2
1547511976, 4

Question Number : 94 Question Id : 6154753069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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NODE L, | & W Bk .,_ff)f;:r e
#1936 (2) #1935 (1)
#1938 (4) #1937 (3)
Options:
£15475114973 1
615475114974 2
61547511975,
61547511976 4

Question Number : 95 Question Id : 6154753070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547511977,
1547511978,
£1547511979.
61547511980,

o IR

Question Number : 95 Question Id : 6154753070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
& 1.4 VJ' L.._ ,-.?,..r}‘(;

s o B, U “...J;L_,fu* i g s
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Options:

61547511977,
1547511978,
£1547511979.
61547511980,

o IR

Question Number : 96 Question Id : 6154753071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511981, 1
1547511982 2
61547511982 5
61547511984, 4



Question Number : 96 Question Id : 6154753071 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- --"
i 4 Jan 13
.L_,-w,..;jf“"*"’ Vs UJ:JL, LN r"’l"u v‘,,.. g%
~ ':.. 4 ﬁ 3
iy . B i
Jl.,}‘ 4 (2) IY KM (1)
. 7
gy @ ;_,F': I
Options:

615475119581, 1
E154751198Z2. 2
E1547511983. 3
E15475119854. 4

Question Number : 97 Question Id : 6154753072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Y @ &2 Q)
A b & " b
Uiz @ -l B

Options:

61547511985, 1
61547511986, 2
61547511987, 2
61547511988, 4

Question Number : 97 Question Id : 6154753072 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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J_.tJ (2) e )
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Options:

61547511985, 1
61547511986, 2
61547511987, 2
15475119288 4



Question Number : 98 Question Id : 6154753073 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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£ A e
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Options:

61547511989, 1
61547511990 2
61547511991, =
615475119392 4

Question Number : 98 Question Id : 6154753073 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547511989, 1
615475119390 2
61547511991, 5
61547511992 4

Question Number : 99 Question Id : 6154753074 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547511993, 1
615475119394 2
61547511935 2
61547511996, 4

Question Number : 99 Question Id : 6154753074 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511993, 1
61547511994 2
61547511995 =2
1547511996 4

Question Number : 100 Question Id : 6154753075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£15475114957. 1
6154751149495 2

E154751193949. 3



E1547512000. 4

Question Number : 100 Question Id : 6154753075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547511997, 1
61547511998 2
61547511999 2
61547512000 4

Question Number : 101 Question Id : 6154753076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
- ;_.-"' - . :: . "p L] .li = :F >3
i K,.ﬂ_j/J’:_i:_! L;‘.!L;}L;Jz-.: y’;_,—r/"/ Q'#J W f},.."ff.-fl.,-?f M
ALLEGORY (2) PUN (1)

TRANSFERED EPITHET (4) STATEMENT (3)

Options:

61547512001, 1
61547512002 2
61547512003 =
61547512004, 4

Question Number : 101 Question Id : 6154753076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
- T * :, . ¥ c .li = f 33
i K,.ﬂ,j/}"f_i:_! L;‘.!L;}L;Jz-.: y’;_,—rf’f .;_';;'GIJ WL f,!,..“ff.-([.,-?_? M
ALLEGORY (2) PUN (1)

TRANSFERED EPITHET (4) STATEMENT (3)

Options:

61547512001, 1
61547512002, 2
615475120032 2
1547512004, 4

Question Number : 102 Question Id : 6154753077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

61547512005, 1
61547512006 2
1547512007, 2
61547512008, 4

Question Number : 102 Question Id : 6154753077 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512005, 1
61547512006, 2
61547512007, 2
1547512008 4

Question Number : 103 Question Id : 6154753078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547512009, 1
61547512010 2



E1547512011. 3
B154751201%2. 4

Question Number : 103 Question Id : 6154753078 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

1547512009, 1
61547512010 2
61547512011, =
61547512012 4

Question Number : 104 Question 1d : 6154753079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547512013, 1
61547512014 2
61547512015 =
61547512016 4

Question Number : 104 Question 1d : 6154753079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547512013, 1
61547512014 2



E1547512015 3
B1547512016. 4

Question Number : 105 Question Id : 6154753080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547512017, 1
1547512018 2
61547512019,
61547512020 4

Question Number : 105 Question Id : 6154753080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512017, 1
61547512018 2
1547512019 2
1547512020, 4

Question Number : 106 Question Id : 6154753081 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



BE1547512021. 1
B1547512022 2
B1547512023. 3
61547512024, 4

Question Number : 106 Question Id : 6154753081 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547512021, 1
61547512022 2
1547512022 2
1547512024, 4

: MCQ Option Shuffling: No Display Question Number : Yes

Question Number : 107 Question Id : 6154753082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475120251
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B1547512027. 3
B1547512028. 4
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Question Number : 107 Question Id ;: 6154753082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475120251
1547512026 2
61547512027, 5
61547512028, 4

Question Number : 108 Question Id ;: 6154753083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547512029, 1
61547512020 2
1547512021, 2
1547512022 4

Question Number : 108 Question Id : 6154753083 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512029, 1
61547512030 2

61547512021, 3



BE1547512032. 4

Question Number : 109 Question Id : 6154753084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512033, 1
61547512024, 2
61547512035 2
61547512036 4

Question Number : 109 Question 1d : 6154753084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547512033, 1
61547512034 2
61547512035 2
61547512036 4

Question Number : 110 Question Id : 6154753085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512037, 1
61547512038, 2



E1547512039. 3
B1547512040. 4

Question Number : 110 Question Id : 6154753085 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475120371
61547512028, 2
61547512029, 5
61547512040 4

Question Number : 111 Question Id ;: 6154753086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547512041, 1
E1547512042 2
61547512042 5
61547512044 4

Question Number : 111 Question Id ;: 6154753086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E1547512041. 1
G154751204% 2
61547512043 3
61547512044, 4

Question Number : 112 Question Id : 6154753087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547512045, 1
E1547512046 2
61547512047, 5
61547512048, 4

Question Number : 112 Question Id : 6154753087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547512045, 1
61547512046, 2
61547512047, =
61547512048 4

Question Number : 113 Question Id : 6154753088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512049 1
E1547512050. 2
E1547512051. 3
B1547512052. 4

Question Number : 113 Question Id ;: 6154753088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547512045. 1
61547512050, 2
61547512051, 3
E154751205Z2. 4

Question Number : 114 Question Id : 6154753089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512053, 1

61547512054, 2
61547512055 3
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Question Number : 114 Question Id : 6154753089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i A r""!r Kl i }.n‘u o :“;‘ # . ¥ 2 b r:l . i 0 2%
Wpal 5 Sl a8 Fe o) ig—J}’LKJ'_ﬂ_}JiuJ u.ﬁi/“-_, LA v

L

. - . -

L_':;Eza{‘,}f(‘ (2) L_E;-Z':zﬁf*,ifr‘ (1)
i e

" " ¥ *

/323 {‘;ffi (4) L_f;::?,i;’*;fr) (3)

Options:

61547512053, 1
E1547512054 2
61547512055
61547512056 4

Question Number : 115 Question Id : 6154753090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512057, 1

61547512058, 2

61547512059 3

61547512060, 4

Question Number : 115 Question Id : 6154753090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512057, 1
61547512058, 2
61547512059 3
61547512060, 4

Question Number : 116 Question Id : 6154753091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547512061, 1
1547512082 2
61547512062 5
61547512064, 4

Question Number : 116 Question Id : 6154753091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E1547512061. 1
B1547512062. 2
B1547512063. 3
E1547512064. 4

Question Number : 117 Question Id : 6154753092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475120651
61547512066, 2
61547512067, 5
61547512068, 4

Question Number : 117 Question Id : 6154753092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547512065, 1
1547512066 2
15475120687, 2
1547512068, 4

Question Number : 118 Question Id : 6154753093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512069, 1
1547512070 2
61547512071, 5
1547512072 4

Question Number : 118 Question Id : 6154753093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

LA PR

weo oo p| - >
SUSEIAT @ SV @
by i ‘vf * L e
S0l @ 5 ;_,f/:’ (3)

Options:
61547512069 1

E1547512070. 2
B1547512071. 3
B1547512072. 4

Question Number : 119 Question Id ;: 6154753094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

: b gn ¢ 5727
I AIGA A YT
pe
. @ Vi o
I‘"'J F _,_,,3*.4-&
o, "_}'.:‘ I (4) Ly (3)
Options:

E1547512073. 1
B1547512074. 2
B1547512075. 3



B1547512076. 4

Question Number : 119 Question Id : 6154753094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

u{”q}_é.#?wﬁ?/v L.—’l qu-"’ |
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et B
BRLLAY (4) LFE % (3
Options:

615475120721
E1547512074. 2
BE1547512075 3
B1547512076. 4

Question Number : 120 Question Id ;: 6154753095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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e
OASET @) @

Options:

61547512077, 1
61547512078 2
61547512079 2
15475120380 4

Question Number : 120 Question Id : 6154753095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E1547512077. 1

E1547512078. 2



BE1547512073. 3
B1547512080. 4

Question Number : 121 Question Id ;: 6154753096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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&
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(a) and (b) (2) (a) and (c) (1)
(e} and (d) (4) (b) and (c) (3)

Options:

61547512081, 1
61547512082 2
1547512082 2
615475120384, 4

Question Number : 121 Question Id : 6154753096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i . - T e 33
SNV Jﬁ: y.4 /'.,_f)l{ - .J'JL‘K_.J' CVL T Sy #rr’ L
N8 —J (@
LA @D ~/ (@
»-i?
SRl
(a) and (b) (2) (a) and (c) (1)
(c) and (d) (4) (b) and (c) (3
Options:

E1547512081. 1
B1547512082. 2
B1547512083. 3
61547512054, 4



Question Number : 122 Question Id : 6154753097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. Wk 3 r:l i i 2 a3
SIS L SR U s
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(c) and (b) (2) (a) and (d) (1)
(c) and (d) (4) (a) and (c) (3)

Options:

61547512085, 1
61547512086 2
1547512087, 2
15475120388, 4

Question Number : 122 Question Id : 6154753097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I AT e e o s
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(c) and (b) (2) (a) and (d) (1)
(e) and (d) (4) (a) and (c) (3)

Options:

61547512085, 1
61547512086, 2
61547512087, 2
61547512088 4

Question Number : 123 Question Id : 6154753098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) and (c) (2) (a) and (k) (1)
(e) and (d) (4) (a) and (d) (3)

Options:

61547512089, 1
61547512090 2
61547512091, =
61547512092 4

Question Number : 123 Question 1d : 6154753098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e
Fn F - o g 2%
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uﬂ}ﬂm’ I S M b o d (c)
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(b) and (c) (2) (a) and (b) (1)
(c) and (d) (4) (a) and (d) (3)

Options:
£1547512059. 1
615475120490, 2

E15475120391. 3



E15475120382. 4

Question Number : 124 Question Id : 6154753099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

|,1-'f J‘J‘

R _} A P
0, _L_/‘;:p-":f,! W2 7N e

Ci'e Ui*" OP L.‘.«'J/: (b) u}f;;;j:i V%L,;:'LJI (a)
;;;g;-;;r’i};;_a; (d) O /ﬁ = U / (©)
Ly, |j__,l "’6‘
(a) and (b) (2) (b) and (c) (1)
(d) and (a) (4) (b) and (d) (3)
Options:

B1547512093. 1
61547512084, 2
61547512035 3
61547512036, 4

Question Number : 124 Question Id : 6154753099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LEC 23D

P ? 2 d
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CJE‘UJLL'?';’EJ_!J (d) ._)Lf‘,.f L,/l’ 2% /’ (c)
ey |J,__,,l ”’f:;
(a) and (b) (2) (b) and (c) (1)
(d) and (a) (4) {(b) and (d) (3)
Options:

E1547512083. 1
E1547512084. 2
61547512085 3
615475120386, 4

Question Number : 125 Question 1d : 6154753100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(c) and (d) (2)
(a) and (c) (4)

Options:

61547512097,
61547512098,
61547512099,
1547512100,
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(a) and (b)
(d) and (a)

(a)

(b)

(c)

(d)

(1)
(3)

Question Number : 125 Question 1d : 6154753100 Question Type: MCQ Option Shuffling : No
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(c) and (d) (2)
(a) and (c) (4)
Options:

E1547512087. 1
E1547512088 2

Lo o g
Ozl U7 -
B olle e ¥R X @
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wilipfh o g TEE o5
MO RYIN (o
3L e3P R @
o 5‘:‘}
:jjl;LT’UEL:
(a) and (b) (1)
(d) and (a) (3)

Display Question Number : Yes



E15475120393. 3
61547512100, 4

Question Number : 126 Question Id : 6154753101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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= e - il A "J.
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(a) and (d) (2) (a) and (b) (1)
(d) and (b) (4) (a) and (c) (3

Options:

61547512101, 1
61547512102 2
61547512103 2
61547512104 4

Question Number : 126 Question Id : 6154753101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ooy e, gy BEE 5
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A Sk Z s/ @ AlzP i/ Bl (©
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3152 &
(a) and (d) (2) (2) and (b) (1)
(d) and (b) (4) (a) and (c) (3)

Options:

61547512101, 1
61547512102 2
61547512103 2
61547512104 4

Question Number : 127 Question Id : 6154753102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)-(ii). (b)-(i), (c)-(iii), (d)-(iv) (1)
(a)-(iii), (b)-(ii). (e)-(iv). (d)-(i) (2)
(a)-(1), (b)-(ii). (e)-(iii). (d)-(iv) (3
(a)-(iv), (b)-(iii). (e)-(ii). (d)-(i) (4)

Options:

615475121051
61547512106, 2
61547512107, 2
61547512108, 4

Question Number : 127 Question 1d : 6154753102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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B o F J‘E./ o o N
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Sg SISV ) f‘:;' (b)
£ i s () s S
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SV G N3 @
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4 Tj.-'-fu’:’ 6
(a)-(ii). (b)-(i), (c)-(iii), (d)-(iv) (1)
(a)-(iii), (b)-(ii). (e)-(iv). (d)-(i) (2)
(a)-(1), (b)-(ii). (e)-(iii). (d)-(iv) (3
(a)-(iv), (b)-(iii). (e)-(ii). (d)-(i) (4)

Options:

615475121051
61547512106, 2
61547512107, 2
61547512108, 4

Question Number : 128 Question 1d : 6154753103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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T
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(a)-(iii), (b)-(iv), (e)-(id), (d)-1) (1)
(a)-(2). (b)-(ii). (e)-(iid). (d)-(iv)  (2)
(a)-(i1). (b)-(iv), (o)-(itd), (A)-()  (3)
(a)-(iv). (b)-Gii). (c)-(i). (d)-Giii)  (4)

Options:

61547512109, 1
61547512110 2
1547512111, 2
61547512112 4

Question Number : 128 Question Id : 6154753103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T
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(a)-(iii), (b)-(iv), (e)-(id), (d)-1) (1)
(a)-(2). (b)-(ii). (e)-(iid). (d)-(iv)  (2)
(a)-(i1). (b)-(iv), (o)-(itd), (A)-()  (3)
(a)-(iv). (b)-Gii). (c)-(i). (d)-Giii)  (4)

Options:

61547512109, 1
61547512110 2
1547512111, 2
61547512112 4

Question Number : 129 Question Id : 6154753104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3 ,5'; 2 Vo g W) J/ (d)
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(a)-(1), (b)-(ii), (e)-(iv). (d)-G11) (1)
(a)-(iii), (b)-(iv). (e)-(i). (d)-(ii) (2)
(2)-(iv), (b)-(iii), (e)-(ii), (d)-(1) (3)

(a)-(ii). (b)-(iii), (¢)-(i). (d)-(iv) (4)
Options:
E154751211=. 1
61547512114 2
61547512115 2
1547512116 4

Question Number : 129 Question Id ;: 6154753104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3 ,5'; 2 Vo g W) J/ (d)
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5y T;'-—'-* IJ;: E-::
(a)-(1), (b)-(ii), (e)-(iv). (d)-G11) (1)
(a)-(iii), (b)-(iv). (e)-(i). (d)-(ii) (2)
(2)-(iv), (b)-(iii), (e)-(ii), (d)-(1) (3)

(a)-(ii). (b)-(iii), (¢)-(i). (d)-(iv) (4)
Options:
E154751211=. 1
61547512114 2
61547512115 2
1547512116 4

Question Number : 130 Question Id ;: 6154753105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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By T:f—'-* IJ;: f:
(a)-(ii). (b)-(iv). (e)-(1). (d)-(iii) (1)
(a)-(iv). (b)-(iii), (e)-(ii). (d)-(i) (2)
(a)-(1), (b)-(ii). (e)-(iii). (d)-(iv) (3)
(a)-(iv). (b)-(iii). (e)-(1). (d)-(ii) (4)

Options:

615475121171
61547512118 2
61547512119, 2
15475121204

Question Number : 130 Question Id : 6154753105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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i s | sl s ::L@E;: (i) gifii' (®)
Ny 2x vﬁf:ﬂ;: ﬂf" CE A7 T e
S @/’LH@* oL #UK %0 (iv) A @
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By T:f—'-* IJ;: f:
(a)-(ii). (b)-(iv). (e)-(1). (d)-(iii) (1)
(a)-(iv). (b)-(iii), (e)-(ii). (d)-(i) (2)
(a)-(1), (b)-(ii). (e)-(iii). (d)-(iv) (3)
(a)-(iv). (b)-(iii). (e)-(1). (d)-(ii) (4)

Options:

615475121171
61547512118 2
61547512119, 2
15475121204

Question Number : 131 Question Id : 6154753106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T Fee

(a)-(1). (b)-(iii). (c)-(iv), (d)-(ii) (1)
(a)-(iv), (b)-(iii), (e)-(ii), (d)-(1) (2)
(a)-(iii). (b)-(ii). (e)-(Gv). (d)-G)  (3)
(a)-(i1). (b)-(iv), (c)-(i). (d)-(iii) (4)

Options:

61547512121, 1
61547512122 2
1547512122 2
61547512124, 4

Question Number : 131 Question Id : 6154753106 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)-(1). (b)-(iii). (c)-(iv), (d)-(ii) (1)
(a)-(iv), (b)-(iii), (e)-(ii), (d)-(1) (2)
(a)-(iii). (b)-(ii). (e)-(Gv). (d)-G)  (3)
(a)-(i1). (b)-(iv), (c)-(i). (d)-(iii) (4)

Options:

61547512121, 1
61547512122 2
1547512122 2
61547512124, 4

Question Number : 132 Question Id : 6154753107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)-(ii). (b)-(1). (e)-(iv). (d)-(111) (1)
(a)-(ii1), (b)-(iv), (e)-(1). (d)-(ii) (2)
(a)-(iv). (b)-(ii1), (¢)-(11). (d)-@)  (3)
(a)-(1). (b)-(ii). (e)-(iii). (d)-(iv) (4)

Options:

61547512125, 1
1547512126 2
61547512127, 5
61547512128 4

Question Number : 132 Question Id ;: 6154753107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)-(ii). (b)-(1). (e)-(iv). (d)-(111) (1)
(a)-(ii1), (b)-(iv), (e)-(1). (d)-(ii) (2)
(a)-(iv). (b)-(ii1), (¢)-(11). (d)-@)  (3)
(a)-(1). (b)-(ii). (e)-(iii). (d)-(iv) (4)

Options:

61547512125, 1
1547512126 2
61547512127, 5
61547512128 4

Question Number : 133 Question Id ;: 6154753108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547512129, 1

E1547512130. 2
BE1547512121. 3



E1547512132. 4

Question Number : 133 Question Id : 6154753108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475121291

E1547512120. 2
E1547512121. 2
61547512132 4

Question Number : 134 Question Id ;: 6154753109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

615475121231
E1547512124 2
61547512135 5
61547512126, 4

Question Number : 134 Question Id : 6154753109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

615475121331
61547512124 2
61547512125, 5
61547512126, 4

Question Number : 135 Question Id : 6154753110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475121371
15475121328 2
61547512129, 5
61547512140 4

Question Number : 135 Question Id : 6154753110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

61547512137, 1
615475121328 2
1547512129 2
61547512140, 4

Question Number : 136 Question Id : 6154753111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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615475121411
61547512142 2
E1547512143. 3
E1547512144. 4

Question Number : 136 Question Id : 6154753111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512141, 1
61547512142 2
E1547512142 2
61547512144 4

Question Number : 137 Question Id : 6154753112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547512145, 1
61547512146 2
E1547512147. 2
61547512148 4

Question Number : 137 Question Id : 6154753112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512145, 1
61547512146 2
1547512147, 2
1547512148 4

Question Number : 138 Question Id : 6154753113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
L1547512149. 1
21547512150, 2
1547512151 2
1547512152 4

Question Number : 138 Question Id : 6154753113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547512149 1
E1547512150. 2
E154¥512151. =3
61547512152 4

Question Number : 139 Question Id ;: 6154753114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E1547512153. 1
61547512154, 2
51547512155 3
61547512156, 4

Question Number : 139 Question Id : 6154753114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547512153. 1
E1547512154. 2
61547512155 3
61547512156, 4

Question Number : 140 Question Id : 6154753115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475121571

E1547512158. 2
51547512159, 3
B1547512160. 4

Question Number : 140 Question 1d : 6154753115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
15475121571

E1547512158. 2
51547512159, 3
B1547512160. 4

Sub-Section Number: 2
Sub-Section 1d: 615475138
Question Shuffling Allowed : Yes

Question Id : 6154753116 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question 1d : 6154753117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

61547512161, 1
61547512162 2
61547512163 2
61547512164 4

Question Number : 142 Question 1d : 6154753118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

61547512165, 1
61547512166 2
1547512167, 2
61547512168 4
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Question Number : 143 Question Id : 6154753119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512169, 1
61547512170 2
61547512171, 2
61547512172 4

Question Number : 144 Question 1d : 6154753120 Question Type:

—
JPov @
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MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

615475121731
61547512174 2
61547512175 2
61547512176, 4

Question Number : 145 Question Id : 6154753121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512177, 1
61547512178 2
61547512179 2
615475121380, 4

Question Id : 6154753116 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id : 6154753117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512161, 1
1547512162 2
61547512162
61547512164 4

Question Number : 142 Question Id : 6154753118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512165, 1
61547512166 2
1547512167, 2
61547512168 4
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Question Number : 143 Question Id : 6154753119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512169, 1
61547512170 2
61547512171, 2
61547512172 4

Question Number : 144 Question 1d : 6154753120 Question Type:

—
JPov @
IWLICY VTR

MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475121731

61547512174 2

61547512175 3
E1547512176. 4

Question Number : 145 Question Id : 6154753121 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

61547512177, 1
61547512178 2
61547512179 2
615475121380, 4



Sub-Section Number: 3
Sub-Section 1d: 615475139
Question Shuffling Allowed : Yes

Question Id : 6154753122 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 146 Question 1d : 6154753123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
g .
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Options:

61547512181, 1
61547512182 2
61547512183 2
1547512134 4

Question Number : 147 Question 1d : 6154753124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512185, 1
61547512186 2

E154¥512187. 3
E1547512188. 4

Question Number : 148 Question Id : 6154753125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512189, 1
61547512190 2

61547512131, 2
61547512132, 4

Question Number : 149 Question Id : 6154753126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512193 1
61547512194, 2

615475121385 3
E15475121396. 4

Question Number : 150 Question Id : 6154753127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547512197, 1
61547512198 2
61547512199 2
61547512200 4

Question Id : 6154753122 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 146 Question Id : 6154753123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= .
CEJkU 77~

)

prss /E’u : 'p‘-.;....num (1)

¥

t* 4": T 2 Fe -*
bl Joca sl P15 R e @

vy 2 BZelhsl @)

-
o

1;1_5L;r J}Jf';rf;ﬂ"v"b/”—f. (4)

\-\r-l-"‘

Options:
615475121511

E1547512182. 2
B1547512183. 3
51547512184, 4

Question Number : 147 Question 1d : 6154753124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512185, 1
61547512186 2

E154¥512187. 3
E1547512188. 4

Question Number : 148 Question Id : 6154753125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547512189, 1
61547512190 2

61547512131, 2
61547512132, 4

Question Number : 149 Question Id : 6154753126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547512193, 1
61547512194 2
61547512195 2
61547512196, 4

Question Number : 150 Question Id : 6154753127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547512197, 1
61547512198 2
61547512199 2
61547512200 4



